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(Sensitivity Analysis of Irrigation Structure) 
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5*#0���/'�-��#������6��9 -*3+$A�5$���(7���
�6��/'�&12���5�3 (#%���

2�32���������0�(Monitoring and evaluation 	�6� M&E)  ::;2�<8�+$A��#5��'���4+)82�-*3(�6-��6�
�%����
<�6��/'��#$
%&��5�3<;�($#�+)�%$#��(#%+���7#���B&��C������<�$
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-���
��.����/'�-��#��&12-�3-�$
%+&�5&� �8�
%..��
��.���(..+*�8��/'� 
(Upstream Control)  :;2�
%..�1/$
%��.�3������
&12�'���4 2 $
%+"& �8� ����
&��/'��#���#�� 
(Cross Regulator *
8� Water Level Regulator *
8� +
1����/��6� Check) (#%����
$���#��*
8� 
$�
.$���#�� (Discharge Regulator *
8� Offtake) ����
&��/'��#���#��:;2��6�5$�%+
1����/�9�6� 
Regulator �1*�3�&12��.���
%��.�/'��3��+*�8��/'�-*3-*3��&12&12
%��.�/'�-�3��
 (Full Supply Level) 
���&12���(..*
8����&12bc���6��/'��'�*�� 0!%&12 $�
.*
8� &
.. $���#��:;2��6�5$�%+
1����/�9 
�6� Offtake �1*�3�&12��.������
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���
5*#0���/'� :;2�+
1���6� Perturbation  -�
%..�#���#$
%&���1$e����������&12

.�����
&'����0��
%.. +�6�  ��
$=�-+$=�-$
�. $�
./&
.. �3��+*�8��/'� �%�6�7#�6��"��%��

5*#0���/'��3��&3���/'� �/'�&6�&125*#+03��#���6��b���   &6��6��/'�+03���&125�6�1.��5�6����
<
��.����/'� 5�3 ��
��.�/'�����
�����#�� Return Flow &15*#�#�.+03��#��  $e����
.���+*#6��1/ 
&'�-*3�"��%��
5*#0���/'�-��#��5�6����� (Unsteady State) 
%��.�/'�(#%���
���
5*#0���/'�-�
�#��+$#12��($#��#��+�#� ��
��.����/'��%&'�5�3���0;/� �3���1��
$
�..�� $�
. <120;/� :;2�
*���<;������3����
)�������6��/'� (#%�.$
%��!-���
�6��/'�&12���0;/� (#%����17#�6�����
�6�+�82�<8� (Reliability)-���
�6��/'�   ��
�6��/'��%5�6+$A�5$���(7�   ��6��5
�d���
%��.�/'�*�3� 
$�
. �#���#�� (#%���
���
5*#0���/'�76�� $�
. $���#���%+$#12��($#�����3��(�65*�
0;/����6��.0�������
��(
�0��$e����&12
.��� (#%�6��

��1�����6��5*� (Sensitivity Indicator) 
0��$�
. �#���#�� (#% $�
. $���#�� ���#'���. <3�����
�1�����6��5*�����"��%��
5*# 
(
%��.(#%���
���
5*#) �%+$#12��($#����+�82��1$e����
.���+03����
%&. -�&���#�.��� <3�
����
�1�����6��5*��3�� �"��%��
5*#�%+$#12��($#��3��  �����/�-���
.
�*�
����6��/'��;�
�3��*����1#�0�������
��(
�0��$e����&12
.���
%..  +�6���
�
3���6��)���/'� (Regulating 
Reservoir) *
8�+#8��-�3����
��.����/'�&12�1�����6��5*��3�� +�6� Baffled Distributor  *
8�
�3���
��
���(7���
$l�.��������.����/'�-����� ��
.
�*�
����6��/'��;��%.

#�+$D�*��� (#%�6�7#
�6�7#7#��(#%
��5�30��+�,�
�
 
 
�����
���	��������������������������� (Structure Sensitivity) 
 

�����6��5*�0������
��.����/'��#$
%&�� *���<;����
��6��
%*�6����
+$#12��($#�
�"��%��
5*#0��7##�)�� (Output) -���
��.����/'�0������
�6���
+$#12��($#��"��%��
5*#
0���/'�+03���6����
 (Input) ��/� ���
�$&12 1  :;2�����
<+01��+$A�����
&�2�5$5�3����1/  (Renault et al., 
2007) 
 

Sensitivity 
inputinVariation

outputinVariation
=                                                            [1] 

 
+�82� Input (#% Output *���<;����
���
5*#0���/'� *
8�
%��.�/'� 



��������� 4 ��
��� 2551 /  45 

 
Variation in Input Control Structure Variation in Output 

 
�>��=? 1  ��
��+�
�%*������6��5*�0������
�#$
%&�� 

 
��
����� Input (#% Output -�����
&12 1 �%(���6�����5$���*�3�&120������
  +�6�

����
&��/'� :;2��1*�3�&12��.���
%��.�/'� Input �%*���<;����
���
5*#0���/'� (#% Output �%
*���<;�
%��.�/'� ������������#6�� ����
&��/'��8�����
&12&'�*�3�&12-���
($#� ���
���
5*# (Q) 
-*3+$A�
%��.�/'� (h) ���
�$&12 2  0!%&12 $�
.$���#�� :;2��1*�3�&12��.������
���
5*#0���/'�+03�
�#�� Input �%*���<;�
%��.�/'� (#% Output �%*���<;����
���
5*#0���/'� �����/� $�
. $���#�� 
�8��#5�#-���
($#�
%��.�/'� (h) -*3+$A����
���
5*#0���/'�-��#��(�� (q)  ���
�$&12 2 ���
(���������#6���%����
<������

��1�����6��5*�0������
&��/'� (SRegulator) (#% �

��1
�����6��5*�0�� $�
. $���#�� (SOfftake) 5�3�������
�6�5$�1/ 

 

Q/Q

h
S gulatorRe

∆

∆
=     (unit=m)                                          [2] 

h

q/q
SOfftake

∆

∆
=     (unit = m-1)                                       [3]  

 

+�82�   SRegulator �8� �

��1�����6��5*�0������
&��/'� (Regulator) �1*�6��+$A� +��
 

 SOfftake    �8� �

��1�����6��5*�0�� $�
. $���#�� (Offtake) �1*�6��+$A� +��

-1 

 ∆h         �8� ��
+$#12��($#�
%��.�/'��3��*�3�����
&��/'�-��#���6� *
8� $�
. $�� 
  �#�� �1*�6��+$A� +��
 

 ∆Q/Q  �8� �6����)�&��0����
+$#12��($#����
���
5*#0���/'�&125*#+03���6����
&��/'� 
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 ∆q/q  �8� �6����)�&��0����
+$#12��($#����
���
5*#0���/'�76�� $�
. $���#�� 
 
 
 
 
 
 
 
 
 

�>��=? 2  we�����2�0������
&��/'� (Regulator) 

 
  
 
 
 
 
 
 
 

�>��=? 3  we�����2�0�� $�
. $���#�� (Offtake) 

 
�6��

��1�����6��5*�0������
�%�1$
%������6���
�'�*���6���
�%���(7���.���

��
$
�..�� $�
. ��6��5
 +)82�-*3
%��.�/'�(#%���
���
5*#0���/'�+$A�5$���(7����5�3  ����1�6�
����7��)#�����6-�+�!x�&12�'�*�� (Tolerance) 

  

�������6�� <3��3����
-*3$�
. $���#��:�� (Offtake) ��.������
���
5*# &12 q+ 10 % 

*
8� ∆q/q +&6���. +0.1 �%����
<�'���!*��6���
+$#12��($#�
%��.�/'�-��#�����-*46&12���-*3 
(∆hpermissible) �������
 
 

Offtake

set
epermissibl S

q/q)(
  h
∆

=∆                                                                                      [4] 

 

 <3� $�
. $���#��+$A�$
%+"&&12�1�����6��5*���� +�6� SOfftake �1�6�+&6���. 2.0 �6� 
∆hpermissible -��#�����-*46:;2��'���!�������
&12 3 �%+&6���. +0.1/2 = +0.05 +��
 *
8� +5 

:�. �
!1&12 $�
. $���#���1�����6��5*���� �6�  ∆hpermissible &12�'���!5�3�%�1�6��3�� (+5 :�.)

bc���6��/'��%�3�����(7���
��.���
%��.�/'�-��#�����-*46�����
����
��+�d�
%��.�/'�(#%


%��.�/'� (h) ���
���
5*#(q) 

Offtake Function 
[h ~ q] 

($#� h -��#���6� 
+$A� q -��#��(�� 

���
���
5*#(Q) 
 


%��.�/'� (h) 
 

Regulator Function 
[Q ~ h] 

($#� Q -��#���6� 
+$A� h -��#���6� 
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$
�..�� $�
. �#���#��.6��9 +)82�-*3
%��.-��#�����-*46�6�����
%��.��.���5�6+��� +5 :�. 

*
8�)���6��9�6�����(�6��'�-���
��.���
%��.�/'�-��#�����-*46+&6���. h+5 :�. 

  

-�&'����+�1������������
&12 3 �%����
<�'���!*����
��6����
+$#12��($#����
���

5*#0���/'�-��#�����-*46&12���-*3 (∆Q/Q)permissible ����1/ 
  

gulatorRe
epermissibl S

h
)Q/Q(

∆
=∆                                                                [5] 

 

��������6�� $�
. $���#��:��&12�#6����(#3� :;2��'�*���6��3�������.���
%��.�/'�-�
�#�����-*46&12 h+5 :�. <3������-*3 SRegulator �1�6�+&6���. 0.5 (�����6��5*��2'�) 
(∆Q/Q)permissible �%+&6���. +0.05/0.5 = +0.1 *
8����-*3���
���
5*#0���/'�-��#�����-*46
+$#12��($#�����6���.���5�35�6+���  +10%  (�6<3� $�
. �#���#���1�����6��5*���� +�6� 
SRegulator �1�6�+&6���. 4 �6� (∆Q/Q)permissible �%+&6���. +0.05/4 = +0.0125 :;2�*��������6����-*3
���
���
5*#0���/'�-��#�����-*46+$#12��($#�5�35�6+���  +1.25% �
!1*#���1/����1$e4*�5�6
����
<��.������
���
5*#0���/'�-��#�����-*46"��-��6���6�&12�'�*��5�3 <3�$e����
.����1
0�������
��(
����(#%+���0;/�.6��9 +�82����� (∆Q/Q)permissible �1�6��3����� ��+�3��1��
�����/�

%..��.����/'�-��#��(..��������� (Canal Automation) 

 

3����=�����
���	�C����1
����� (Sensitivity Indicator for Coveyance) 

 

 ���(�����+�12����.�6��

��1�����6��5*�0�� $�
. $���#�� ���&12�#6��-�*��03�&12(#3�  
�%+*d��6�<3�
%��.�/'�-��#���6�+)�2�0;/�*
8�#�#�+&6���. ∆h �%�17#&'�-*3���
���

%.���/'�76�� 
$�
. $���#��+)�2�0;/�*
8�#�#�+&6���. ∆q (#%�6�7#&'�-*3���
���
5*#0���/'�-��#���6��3��
&3���/'�0�� $�
. $���#��#�#�*
8�+)�2�0;/�+&6���. ∆q ���
�$&12 4  7#�
%&.�1/�%�1�6�����3��+&6�-�
0;/����6��. ���
��6�� q/Q (#%�6� SOfftake  ���(������1/ <3�)���
!��6� ∆h �8� Variation in input 
(#% ∆Q/Q �8� Variation in output �%����
<*��

��1�����6��5*�-���
�6��/'�0���#���6�
(SConveyance) 5�3�������
 
 

h

Q/Q
SConveyance

∆

∆
=                                                                              [6] 

 

+�82����� Dq=DQ �%+01������
03��.�-*�65�3�6� 
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h

)Q/q)(q/q(

h

Q/q
SConveyance

∆

∆
=

∆

∆
=  

 
)Q/q(SS OfftakeConveyance=                                                                             [7] 

 

 �

��1 SOfftake  -�3-���
$
%+���7#�
%&.0����
+$#12��($#�
%��.�/'� (∆h) �6���


%.���/'�+03��#��(��  <3� ∆h  �1�6�����%�17#�
%&.��� �6���

��1 SConveyance -�3$
%+���7#
��
+$#12��($#����
���

%.���/'�0���#��(���6����
���

%.���/'�0���#���6� 
 

3����=�����
���	�������������3����/�� �2�. ������� (Flexibility Indicator) 

 

���*#���#����
� ����
��.����/'��#$
%&��-��#���%�1��&��)#:;2����(#%��� ���
�����6��-�
�$&12 4 +�82����
���
�6��/'�-��#���6�+$#12��($#� (Q+∆Q) *
8�+�82��1��
$
�..��0��
����
&��/'�-��#���6�(�#�����-*46)�%�17#�6�
%��.�/'��3��+*�8��/'�����
 (h+∆h) �%�1
7#�
%&.�6����
���
5*#0���/'�+03��#��:�� (q+∆q) -�&���#�.�����
$
�..�� $�
. $��
�#��:�� �%�17#�6����
���
5*#0���/'�-��#�����-*46 (Q+∆Q) (#%�17#�6�
%��.�/'��3��*�3�
����
&��/'� (h+∆h) 

 

 
 

�>��=? 4  "�)(�����&��)#
%*�6������
&��/'� (#% $�
. $���#�� 
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-�*��03�&12(#3� 5�3�#6��<;������6��5*�0������
��.����/'�+|)�%(*6� (�6���*#���#
����
� ����
��.����/'��#$
%&��-��#���%�1��&��)#:;2����(#%��� ���&12�#6����(#3� �;�
����
<
�������6��5*�0������
&��/'�(#%$�
. $���#�� +$A������6��5*��#�6�����
 
(����
&��/'�(#% $�
. $���#��(��) :;2�+
1���6� Node Sensitivity *
8� Hydraulic Flexibility 

(#%�

��1&12(����6������6��5*�0���#�6�����
 +
1���6� Flexibility Indicator (F) :;2�����
<
�'���!*�5�3�������
 

 

Q/Q
q/q

F
∆

∆
=                                                                               [8] 

 

+�82�  q = ���
���
5*#0���/'�-��#��(�� 

 Q = ���
���
5*#0���/'�-��#��(�� 

 

 <3���!(#%*�
����
&12 8 �3�� ∆h �%5�3 

 










∆

∆









∆

∆
=

Q/Q
h

h
q/q

F  = SOfftake.SRegulator                                 [9] 

 

<3� F < 1 *���<;� underproportional :;2��1����*����6���
+$#12��($#����
���
5*#
0���/'�-��#���6� (∆Q/Q) �%�6�7#�6���
+$#12��($#����
���
5*#0���/'�-��#��(�� (∆q/q) 
-����
�&12�3��#�  

<3� F = 1 *���<;� proportional :;2��1����*����6���
+$#12��($#����
���
5*#0���/'�
-��#���6� (∆Q/Q) �%�6�7#�6���
+$#12��($#����
���
5*#0���/'�-��#��(�� (∆q/q) -����
�
&12+&6����  
%..��.����/'�:;2�-�3����
(.6��/'� (Proportional *
8� Division Structure)�%�1�6� F 

+&6���. 1 :;2� Q &12���7���/'��%<��(.6��������6�� 
%..�1/�%-*3�6�����+$A��

� (Equity) ���-�
��
�
%����/'� 

<3� F > 1 *���<;� hyperproportional :;2��1����*����6���
+$#12��($#����
���
5*#
0���/'�-��#���6� (∆Q/Q) �%�6�7#�6���
+$#12��($#����
���
5*#0���/'�-��#��(�� (∆q/q) 
-����
�&12����6�  
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�����
���	�����
������ (Reach Sensitivity) 

 

�6���#�� (Reach) -�&12�1/�%*���<;��6��0���#��&12$
%��.�3�� $�
. $���#�� 
(Offtake) *#�����&12���6+0���
��.���
%��.�/'�0������
&��/'� 1 ��� ��&��)#
6��0�� Node 

Sensitivity 0�� $�
. $���#��(�6#%�����.����
&��/'�-��6���#����/� +
1���6� �����6��5*�
0���6���#�� :;2��6��1/�%�6��.���6� $�
. $���#��(�6#%��� �%�6��#����
���
�6��/'�&12���*
8�
�3��+���5$ (Perturbation) 5�3����3��+)1��-� ���
�$&12 5  :;2��%+*d�5�3�6��6���#��&12 F=1 �%
����
<�
%���$e����
.��� (Perturbation) +03�5$-��#��(��5�3��6����2'�+����#���6���#��  
<3� F>1 �#��(��&12���6�3��6���#���%5�3
�.7#�
%&.���$e����
.��������6� -�&���#�.��� <3� 
F<1 �#��(��&12���6�3��6���#���%5�3
�.7#�
%&.���$e����
.����3����6� ����
�3+�12����.����
�6��5*�0���6���#���%�1$
%������6���
���(7���
$
�..�� $�
. $���#��  
 

 
�>��=? 5 ��
+�#82��&120�� Perturbation -��6���#�� :;2��1�6� F �6����� 
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�6��

��1�����6��5*�0������
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q = M(head)α                          [10] 
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α = �6����'�#�� :;2��1�6�+&6���. 1.5 �
!1 Weir Flow (#% 0.5 �
!1 Orifice Flow 
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Free flow 
%��.�/'��3��+*�8��/'� – 
%��.�/'��3��&3���/'� Undershot 
(Gate or 
Orifice) Submerged 
%��.�/'��3��+*�8��/'� – 
%��.������#�� orifice 

 

0.5 

Overshot 
(Weir) 

 
%��.�/'�+*�8����b���/'� 1.5 
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&12 11 (#% 12 
 

head
SOfftake

α
=     (*�6�� : m-1)                 [11] 

α

head
S gulatorRe =              (*�6�� : m)                                                             [12] 
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����
&��/'� Undershot(Orifice) 0.5 SRegulator = 2head 

 Overshot(Weir) 1.5 SRegulator = 0.66 head 

����
$���#�� Undershot(Orifice) 0.5 SOfftake = 0.5/head 

 Overshot(Weir) 1.5 SOfftake = 1.5/head 
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